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Conputin

population-willsurvive tothe-nextgeneration

- - —combining-tWwo-members-of the popuiation
« Canwe emulate the evolutionary process with

today'sfastcomputers?

-changinga single- memberofthe population

-allowing the best members to pass to thenext
generation
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Soft Conputin
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GA systems allow for a solution to be reached

chance of surviving and procreating, as
opposed torandom-search

15 20
Generations
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{01110 61001 0001000100y (01110 1001 00010 00100) (14]13‘5‘2> |63’30l=33

@3552 46-30/=16

2} How do you decode your chromosome to evaluate
the peaks function?

3)—How-do-you-determinethe-probabilityofselection?

4)—What-parameters do you use for population-size,
generations, elitism, crossover rate, mutation rate?

e—bitZaum

else

fitness=fitnessisum(itnessy), Yo SUMEIST
end
cum-—prob =cumsum{fitness):.

% Roger Jang, 12-24-94

integer=polyvalbit 2},
num = integer¥((range(2)-range(1))/(2~length(bit)-1))
+ range(1);
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Soft Conput i ni of t Conputing:

ft Conputing: =Berivative-Free Cptimization

= Simulated-Annealing = Simulated Annealing

Initial random path— During SA process Final path
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Penalty==0 Penalty =05 Penalty =03
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